Instruction Manual sunJe

Electrostatics

)f SXN-05B/10B Series (L Type) @D

AT REEEMENREERENRS, WM™ EAHRE.
737 IR EFA EFRRIIDESM.

0 HTREBEEFTHFR

A\ WARNING

*ERARMESIT. (. SERENE. M. JORATATEEE. BRABIHEREALEL

* FRIEAEREIK, FIRESIRSEIFAESE. . KK,

* MEFmEE BEAEERURAKITER, B, M. KRARE.

¥ ERORERERE. REE. ETENRAEERNRK.

* WP RAEFER Xk, WRERREIEEER. WAKRNRSERR.

* Rt EREE T A ERSNEEERRERE. R, RASSEITREERES.
W RARFERIES. BN RENHAREES RN, BEIETERK.
HEIERSIAOE. RURFIKIRIBES. MRBSIEDHSRRERAARE.

*BEREAZIRBIRIITER. R EmRE M.

* WP @A T FAMCTIRAERT. FEFRIL R, B, A, XCREGATREME.

© caution

* ERAERNRIEAE Output Cable®, RSBIRMFMIALESHIEK.
* ERRIRANEARRER, EREE R RN AR iR e R E .
* iz CableiBHATFARY [SE701%] SUUER. EREERNR RS E Rk,
* P EB9ET CableBHTLATRTREN., EIXR. BIREANERLARIRA AR,
BE. KRETRTEENE.
* ERERRNNAN. BPERESNeREr iR SRR,
* AR EEFEE(RMEER) 2SR, FREEA SR,
* $RIE Bar Soft X-Ray lonizerfd—FERHBRE. B AERENREBERIMIERERF.
FASERTFEZEARARKINS) HE R EBERRRER AL,

@ i\ Package A&

> FEERERt
=R Package BN FAYEL L.

Bar Soft X-Ray lonizer
SXB-05-%%*%-% or
SXB-10-%#%%-x

lea Controller
X ETREIE xeon
SXB - 05 - *¥*x %
FreT| HE || KE || 88 )
N X SXB-05-****-* or SXB-10-****-*
{3 : SXB - 05 - 2200 - 7 ,NFRY Controller,
* Qutput Cable * Power Cable + D-Sub Cable
SOC-XN-6-001 SPC-MT-1-001 SDC-SN-5-001
10m/ lea AC 100V, 50/60Hz, 1.8m / 1ea 15Pin-15Pin(Open)/
or 5m/ lea
* Power Cable
SPC-MT-2-001
AC 220V, 50/60Hz, 1.8m / 1ea
» 1&H0EY*=m Option
BRI NN T BRSNS IR AT LA SR FRITRE .
< Middle Bracket > < ¥SHIZBETE Bracket >

* Middle Bracket * SXC-10BL Bracket
SBR-XB-1-001 SBR-XN-4-001

< {&HlgHE Cable >

__ *Ground Cable
4’2& SGC-MT-5-001
Banans Plg 73

2.5m /Banana Plug-@3[mm]

< OEHRBLERIHARY > “
N>

" * Tube
‘: SXB-05/10-T

02

HaBRIAY TR
» Bar Soft X-Ray Ionizer (SXB-05/10 Series)

@ Side Bracket
IR EIAFERER) Bracket,

@ Controller Connector Soft X-Rayh5328

SRz EHIREmR N BB Xk
(Controller Unit) Sy ERFREFERBEFER
EERERE RO, (+)lonffl (-)lon ; H—EiHpREHEE,

@ Indicator Light

FRIEENMEHRHENSREE LED,
FERBIEENHRRRLE LED,

O HUNVALARMZOVERTIME TubelIERRTAZEY . RBRBITEHREEEER,

FSRE R FRAIE,
BEEMEREERSIT.

K FRERITERHEEHEA. (Dual LED)

» Controller (SXC-10BL)

BIEER ---@ Run/Stop Button
HUTHETLER (Bar Soft X-Ray lonizer)
LCD Display @:+---seeseesees ) HERIELEATRIE,
27 Bar Soft X-Ray Ionizer
N ----@ Select Button
R B Menusk &S NIMERIRT
1RFBHOFFX.

............. @ Enter Button
A Menuf1EMEUBRIGRTFA0RT
RFRIFER.

Indicator Light ®

POWER

Power LED IRHIEEE IR RERRIAE LED,
INTERLOCK

Interlock LED InterlockiEFRAIBHRERRERE LED,

OVERTIME

Over Time LED | TubeHIfERMIAET. SREBIEHRELTEEE.

ONONONO

Alarm LED FERBIERNHRRRLLE LED,

ALARM

EE s o iEihiE?
H AR,

:+---- @ Power Switch
RHIBRF=RAYERIRA /
KEgEEO,

250V, 3A,
Glass type fuse,

---® Power Input

RAHERAORHEREA.
SIGNAL OUTPUT @--
fnfF Interlock, Remote, Indicator, :...-@ Bar Soft X-Ray Ionizer
PowerDJEEAIRHEIELSAIIR T Connector

RIEH Bar Soft X-Ray lonizer
FH2%I28A9 Connector,

TRLAR &R
» BBiAZEE Bar Soft X-Ray lonizergft
FHAR DRI FAIREEEM.

R B AEREREZRZRG
B RIS Z AR B BERIEHERFLEEE
B EEMBRESER

» Bar Soft X-Ray Ionizer&& 5%

BARERE

TBHRSEEEA M4 BoltREIEMNIEEL IR B THEE e A YA,
PR, E, ROISEMSEIIE.

: EER
Side Bracket Side Bracket %

<h:

—

i M4 ot M4 Bolt L

{EF Middle Bracketig&HR$ (Option)

FIF Side BracketZ 54 gEZ%E Bar Soft X-Ray lonizerfi9ith75. i&FIM Middle BracketZ 4,
1R & Middle Bracketfd, {3 M4 BoltElE,

B Middle Bracket

| M4 Bolt | M4 Bolt | M4 Bolt

X % Bar Soft X-Ray lonizerBS{§f Middle BracketififF#i&

Model Middle Bracket Q" TY
Middle Bracket
SXB-05/10-600 ~ 1800 2ea
SXB-05/10-2200 ~ 3400 3ea

> Rl
FREISEE
ESEN TERAERRIMENEE,

SXN-05B $ 100
Series (L Type) g
o
= 80
5
Z 60
40
20
0
0.001 X . 10 100
Thickness(mm)
SXN-10B $ 100
Series (L Type) g
o
2
£
10 100
Thickness(mm)
[BE [mm]
No s
SXN-05B Series (L Type) SXN-10B Series (L Type
@ iR AFo01 AF 04
@ AR KF 025 KF 20
® Glass XF 05 xF 3.0
@ PVCiR XF 30 AF 5.0
® Rikzwalit AF 50 KF 400
AWARNING * AT ERENRLSREN XENER—ERRZEER.
* Bl InterlockiZRIEHACITER, BIHTFEMELLR X,

04

> REREBIIRE
BEEMTREME.
BRI RAERE 100Sv/hiA T, (BIRSEMMRERE. WEE : 10uSv/hr)
Output Cable Bar Soft X-Ray Ionizer

Shield Door

e

Inte|
|— Shield

—

Controller Unit \

> EERE
#%E§% Bar Soft X-Ray Ionizer
BRI Output Cablei® Bar Soft X-Ray lonizerflizH|s8iEsE,

< Bar Soft X-Ray Ionizer >

(SXB-05/10 Series)

Output Cable
(SOC-XN-6-001) < Controller >
Length : 10m (SXC-108BL)
EREtRR
AR RGN hIRRE R,

Power Cable

(SPC-MT-2-001) @
Length : 1.8m E

EEAHBESS
EFE—IEIRAHY D-Sub CabletISSf s MRREERE.

< Controller >

| D-Sub Cable
Equipment 8\ (SDC-SN-4-001)
(PLC, etc.) ‘Z Length :5m
AHIBESE NO.
15Pin D-Sub
0]6]6]0]6]0]0)
(elelelelole]o)
<1~8: Output/9~15: Input >
AHBESERE
X% | No. Pin &R L TgE
1 GND GND -
2 Power State | Indicator Power State RS
3 | Interlock State |Indicator Interlock State InterlockR7&88H
4 Run State Indicator Run State RuniR7&sH
Output .
5 Alarm State Alarm Output AlarmirZSt
6 N.C No Connected No Connected
7 N.C No Connected No Connected
8 N.C No Connected No Connected
9 | Remote-Mode| Remote Mode Select LB/ 255 Mode HE (588 )
1 Mode
10 | Mode-COM GND = AR
11 | Remote-ON Remote ON LiZmfEFa 2SR
11-13: Close—0On |11-13: Close—On
Input 12 Remote-OFF Remote OFF 11-13: Open—0ff | 11-13: Open—On(45%)
13 | Remote-COM GND 12-13: Close—Off
14 | Interlock-COM GND
Interlock On/Off (58 )
15 | Interlock-ON Interlock ON/OFF




RERE
» igH& Interlockfik

Interlock On

D-Sub Cablefly 145#0 15575 B EREARI 1R Interlock On,
Interlock OnEKER X-ray HeadTERIMt S BRI ],
FHISSRIERR “Interlock FRAT" (wremook () JREBITE,

Interlock Off

D-Sub Cableff] 145#0 1555 mBERAAHE Interlock Off,
Interlock OffEIkER X-ray Head7EfUME SRR FRATX .
HISEAIEER “Interlock FRIT" (wrerock (=) YRS,

< Interlock On > < Interlock Off >

o
Close Open
< fubjEesET > < fEHIRSERTT >

05

RE Interlock On Interlock Off
D-sub Cable No. 14 - 15 Close 14 - 15 Open

wE ERAEANOIIERRF FREOENOIEF

B TR AR

» Remote Mode
Remote ModeB#4 Mode 275 Modefll Mode 1755 Mode,
£ Interface Remote Mode On / Off( 9 )8R com( 10 )i&E#E 2755 Mode,
9%01 10 OPENYAZS T 1 T35 Mode AaffE, Remote LEDZ 275 ModeBI &I,
Remote27E Interlock OnfAZS FRERTE.
Interlock Offf4AZ T Remoted A3 Onth Soft X-Ray BarR&ziME,

27355 Mode : Remote On / Remote Off§EANIm,
13555 Mode : Remote OnB—/Mia.
< 2555 Mode > < 1554 Mode >

O
Close Open
< EHERRTIT > < BRI >

== 2 155 Mode 1755 Mode

D-sub Cable No. 9 - 10 Close 9-10 Open

» 1353 / 275503 Remotedfiff

135 50T RemotemifE

< Remote Off >

< Remote On >

Open

25 At Remotesfif’

< Remote On > < Remote Off >

i

(12— close

©,

06

* 195 / 26508 ModeigBX R,

CAUTION
o 12pinfl 13pin Closefi4& Remote OffifE,

O HEfRF

* FFRERREE. SHPHEXABEAR I EBE,

DAVARNNG | i e,

> 4P
B AR Bar Soft X-Ray Ionizerf§ TubeiEacE.

Hift Tube
TubelkEI TR T (ERE. M5 L8R Tube,

* TubeTWMEFEHE, TIENAEME Tube R SHIRHEH.

* TubefS/E ConnectorFZRHARS . AR TRHLLRIR,
HISEERRRIEA. MEAANHSIERLWIFRER Connector,

* TERFIEES Tubefll Bar Soft X-Ray Ionizersk2 A2 IEMRIIERE,
FRERMESRSSHIEIHMITE,

* EIE TubelMBRZIMERAWBED L, 2EME. M8, XKL,

© caution

® BHERE TubelBz
FRIZELTIskE FHEEEN TubelReLisT TS TRbESS .

@ £ Tube
FRFTEIRE TubeZ /5. 1B TubelB4EEHMESE.
HEEN TubeFILAE SR ERKEIRER.

® EHHY Tube
HIAST TubeBIEE Connectorf5TaZ FLAEE S EHE# K.

@ EE TubelB44iE
Y TubeE &2 fEFIRELT]RE FIBEIE Tube IR RIS TS IRIAESS.

BFFEE Tubelg > < 9% Tube >

< %% Tube >

X TubeaZ& 2 f51E ControllersLfT Tube Reset, (2% SXC-10BT/BLEIEFAR)
X TubefIEEIRLAEM TubeH.

R R

07 08

» Controller (SXC-10BL)

> EIERIERITRIAIRE {Top»
wE TRIAIRE TRIARIRE =
BREELEIRER? TR IRGE L F R,
o
o S MR LA, =]
EREEREELSMIETR ? (AC 100240V, 50/60113) s
BHERENRRTXEEEX ? FreEiREA.,
FuseSavliit: 2 BEIEAREN Fuse =
FERAEE AERRET ¢ BN . ! 180.0 |
Bar Soft X-Ray lonizerf) Tube T2 E=IT - -
LEDEEZE LEDRERAT? TSEEAY TubesRATifR, < Front >
27 Remote Offik7s ? g [Rer;:r;iigﬁojﬁ TEREAT
27 Interlock OffiR7 ? g “ntler:z;l;i%fgjn TRERAEST
RYE SXC-10BT/BLH{EFM
FRAREINE ControllenEEHNAI S EREMIZE ? [» Menu - 4. Ctrl Set]
KRB SRISTE Tubedii,
ESREEREN | \HESENERLIRFREEEHE? BIAGREE RN,
. iR [EEEbAER] TE
— aRE BUERR .
ST CableBEAMTARERI 7 p o e
RIZHIZRE) Run/Stop
Bar Soft X-Ray Ionizer MgZEEEE] Remote Off ? MIREREFF Remote Off,
hARS;E
#2188 LCD Display . N
2% Error Code E2% [#fi\ Error Code | BR. 2.0

> FRIATEIEHIEERTAY Error Code

8000

Error Code wE MR ($RF) B
Err2 Bar Soft X-Ray lonizerpgB B8R Off/OnZ B 2B RIS
System (R ERRREREMERARE.
Errd Bar Soft X-Ray lonizerf&HEBHEF 2% Bar Soft X-Ray lonizer Tube,
RLBESHTERRBIER, MR RAEREREREREK RS,

* B IR TIRIBE P HOZRAT LIS,

O MIE

9

» Bar Soft X-Ray Ionizer (SXB-05/10 Series) Parameter Description / Value
lon Generation Method Soft X-ray
{ Front > Source Soft X-ray Tube
E = % = SToTE Beam Angle 150
= ff Ed#ﬂ;{r\. L @ Input Power AC 100~240V, 50/60Hz
! 25 | Power Consumption (with Bar) Max. 130W
8.0 Operation Circumstance 0C ~+50CT(32°F ~ 122°F), 35% ~ 85% RH
< Bottom R25 Dimensions Please Refer to Dimension Drawing
@" po- ] -] ﬂ% Alarm Function H/V Abnormal, Communication Error
Y H o .
© (Run, Alarm, Power, Over Time, Remote, Interlock)
! 154.0 ‘ 154.0 ‘ ‘ & Interface Remote On/Off, Interlock On/Off, Output State
I d Controller Fuse 250V, 3A, 5X20 Glass Type Fuse
Weight Controller (SXC-10BL) 1.05kg
SXB-05 Series 1 year
Warranty SXB-10 Series 1 year
Controller (SXC-10BL) 1 year
X ATFERERAER. FIREAEASM. B~ mA0sMIAIE,
No. MODEL No. (8] B |TUBE QTY| Weight
1 SXB-05-300-1 | SXB-10-300-1 | 308 | 329 | 385 1 0.35kg
2 | SXB-05-600-2 | SXB-10-600-2 | 619 | 640 | 669 2 0.65kg
3 | SXB-05-900-3 | SXB-10-900-3 | 930 | 951 | 980 3 0.95kg S unJG Ele(trostatics sunstat.com
4 | SXB-05-1200-4 | SXB-10-1200-4 | 1241 | 1262 | 1291 311 4 1.25kg : )
5 | SXB-05-1500-5 | SXB-10-1500-5 | 1552 | 1573 | 1602 5 1.55kg I Head Office & Factory (Busan) Sunje Japan Co., Ltd
6 | SXB-05-1800-6 | SXB-10-1800-6 | 1863 | 1884 | 1913 6 1.85kg 8 ,Cheonggwang-gil, llgwang-Myeon, Gijang-Gun, 3-11-16-321 Higashimikuni, Yodogawa-ku, Osaka, Japan
7| SX805-22007 | SXB-10-2200-7 | 2174 | 2195 | 2224 7 | 2159 D SIS T07500 £ 482517207501 PrereiseEs preveenssn
8 | SXB-05-2500-8 | SXB-10-2500-8 | 2485 | 2506 | 2535 8 2.45kg .
9 | SXB-0528000 | SXB-10-2800-9 | 2796 | 2817 | 2846 9 2.75kg | gf'}f'h"" SBal'gsffo"e mwafgf’ﬁ . ' _
— " < lishin 5/1), &, Namnyeoul 2-gil, iwaseong-si, | Sunje (SHANGHAI) Trading Co.,Ltd.
1 SXB-10-900-2 930 | 951 | 980 2 0.80kg Gyeonggi-do, Korea Room 312, Jiurun Business Building 3rd Floor,No. 298,
2 SXB-10-1500-3 1552 | 1573 | 1602 3 1.20kg T)+82-31-203-9034 ) +82-31-202-9034 Yindu Road, Xuhui District, Shanghai, China 200000
3 5XB-10-2200-4 21742195 [ 2224 | 622 | 4 1.65kg | Southern Sales Office (Chilgok) T)+86:21-5433-9761 F) +86:21-5433-9762
4 $XB-10-2800-5 2796 | 2817 | 2846 5 2.05kg éij;ﬁ;;’;ﬁ;ﬁﬂ‘kii“'Kiiii’“*'e““ Chilgok-gun,
5 SXB-10-3400-6 3418 | 3439 | 3468 6 2.45kg T) +82-54-476-9033 ) +82-54-476-9034

% Model Line Up2 HATERIAY Line UpZ4t Tube Pitch(B) Tube QtysKa]LAZEE,

- Tube Pitch 311~622mmlARRILAZEE
- Tube Q'ty Max. 9ea

| Sunje Technology Co., Ltd.
2F, No.6, Lane.102, Sinhe Rd, Sinfong Township,
Hsinchu County, Taiwan 30472
T) +886-3-568-7891  F) +886-3-568-7950

@IGE Q INNOBIZ @

KRB AlSigiel S201RIgaesl v .

Customer Center +82-70-7714-9033
Sales Contact +82-31-203-9034

Copyright 2017. SUNJE Hi-Tek Co., Ltd. All Rights Reserved.



